
 

intergerf

l
5 3

6 4

The rule is keepthesignof the
The rule is Whensubtractingwith

ibiggerabsolutevalue andadd

1st H 161 4
Megitive

soyou know your answer is so youknow your
answer isnegitio

negitivenext subtract Ig so now you add tho

so the answer is So the answer is 100

multiplying Irriding
3 x 4 18 6

The rule is whenmultiplying The rule is whendividing with
oppositesigns the productwill different signs theproduct will be
be negitive negitive
Multiply like normal 3 4 12 Divide like normal 18.26 3

youknowyour answer
is waitin youknow the answer is negative

sothe answer is so the answer is
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